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13010072V A [y 10,120
130100|7 W A & 10,090 0 7,020 10 1,944 864
130340 ICA LA [y 21,830
130340 ICA LA R 6,030 0 5850| 10 2,268 918
130340 ICA LA RI& 14,020 0| 14,020 10 2,430 972
130340 ICA LA BEAR 1,300 0 1,300f 10 2,430 1,674
130400| 1% 5 iy 1,554
130400 1% 5 Eix 880 0 870| 10 6,480 1,620
13040021 5 BHE 590 0 580 10 6,480 4,244
130600{1L A T A HE 830
130600|1LA Z A ES 830 0 830 1 2,052 756
131100| B3 o3 6,360
1311003 R 6,360 0 5,955 15 1,944 918
131700(%F v~ e 24,106
131700|F v+ R B3 4,590 0 4,590 10 756 486
131700(%F v~ RE 3,950 0 3,950 10 1,296 756
131700|F v+ R EH 1,270 0 1,040 10 1,037 756
131700(%F v~ & 10,096 0| 10,096 10 1,080 648
131800(IF S MAE [y 1,997
131800(I1F 53 A E I & 1,433 0 1,390 3.6 3,240 1,080
131800(IF S MAE & 334 304 30 0.2 130 108
131910|F & HE 1,350
131910|Fh & KR 20 0 20| 0.5 702 324
131910|F & fi] 1Ly 270 0 270 1 540 216




131910(Fh & ) 584 584| 10 4,320 3,564
131910(F R & T 425 425| 10 3,456

131950(B & et 4,352

131950|H A & Ik 2,970 0 2,970 2,484 1,458
131950(B A& BSE 1,202 0 915 1,728 1,134
133400(L % % e 17,870

133400(L % 2 R 17,870 0| 15,480 10 1,674 540
134100|#A/1 e 15,993

134100 |#8/1 i 445 0 180 5 1,782 1,674
134100 (&A1 = 2,315 0 2,180 5 1,836 810
134100 |#8/1 ) 2,515 0 2,515 5 1,998 972
134100|#A/1 T 5,230 0 4,880 5 1,998 1,080
134100 |#8/1 Syt 480 0 360 5 1,728 1,296
134100|#A/1 = 1,950 0 1,950 5 1,998 1,188
134200|/ M et 2,220

134200(F /1 A¥ 0 2,100 0 1,690 10 2,700 2,160
134300 (%6 7 et 7,665

134300567 = 1,462 1,462 2 1,080 540
134300 (%67 Syt 4,773 3,870 0.3 119 108
134300(#6F F=1iA 1,136 987 0.3 162 151
134400| k< k et 13,508

134400| k= b+ FE 4,585 4,585 1 324 270
134400| k< k REAR 8,898 8,898 4 1,512 972
134500| &’ —~< >~ e 6,233

134500|°— < > [SE il 792 765| 0.15 86 59
134500| & —~< >~ R 1,935 1,935 0.15 108 81
134500| " — < > =y 2,452 2,052| 0.13 97 32
134700(&5H6A 2L | 2,250

134700(& 5652 L A 835 835 5 1,210 1,037
1347005652 L = 1,000 1,000 5 1,620 1,296




134700(&> A2 L & 400 400 8 2,160 1,944
135100| W A LT A ¥ 84

135100 W AT A wE 84 84 2 2,376 1,620
135300 &"— X ¥ 21

135300|— X BE 21 21 4 3,240 540
135500( 2722 ¥ 144

135500|2 722 Iz & 108 108] 0.18 130
136100(AA L & ¥ 2,000

1361001 A L & T 855 855 5 1,890 1,404
136100(AA L & h¥= 1,045 1,045 5 1,836 540
136200|%inE ¥ 3,290

136200(F % Rl 3,100 3,100 10 1,674 1,296
136210| X —27 4 >~ ok 5,100

136210( X —7 1 ~ 5B 20 20 10 1,080 864
136210| X —27 4 >~ R 5,080 5,080 10 1,944 756
136300|2F ¥ 382

136300| 2% BRS 232 222 1 864 389
136600|7z & ¥ 26,265

136600|7- & EE 25,465 25,465 10 3,024 756
138100(& L W /o ld ¥ 945

138100|& L Wiz lF fig Ly 96 96| 0.08 65
138100(& L W /o lF BE 653 647 0.2 238 76
138500| L& LE ¥ 2,544

138500(L® LE g 2,631 1,915 0.2 84 76
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240110|/\ 7RI DA |HEK 90
240110|/N7 ZHA DA (= 90 90| 0.27 432 216
242320|¥ 33— L F | 4,810
242320|¥ 3+ 3— K | BH 4,810 2,590| 10 5,400 3,240
242830|3 LW A e 2,370
242830|5 LW AT & 2,370 1,920 10 6,264 5,400
243950| U [y 551
243950| b & 531 531 0 1 2,376
243950| U &I 20 20| 0.25 410 356
244200\ 4% H 6 HE 2,540
244200|Fh4%EH b it 376 376 10,800 3,240
244200\ 4% H b AL 2,164 2,164 4,860 2,592
244530 H b iy 892
244530(F H b AL 700 700 0.5 432 324
244530 H b f&hd 192 192 1.6 1,642 1,512
244750|B5 & 5 HE 316
244750655 & 5 11} 306 145 0.18 594 378
244750|B5 & 5 RE 10 10 0.2 648 594
245220| 77 7 = 7 [y 208
2452201777 = T AR 178 178 0.3 540 410
245230|E &3 E S [y 189
245230|BEI£.3E S & 170 140 1.4 4,104 3,240
246000|L\B & [y 158
246000 LB & FfE 23 23| 03 292




246000({\ 5B & &I 12 0 0.3

246000|L B & Rz 123 1231 0.25 410 130
247100| 7 — L zx XAy ¥ 540

247100| 7 — /LR A A YV B4 440 440 9 9,720 4,860
247100| 77—/ R A A v Syl 100 100 10 4,320

2474910 4 v — X O AN 415

2474917 A4 v — XA 0O Tk 415 0 5

247568|x A I ARV bioese 3,275

2475682 Hh I A B I 3,170 640 5 2,592 1,296
248300781 HoEK 15,235

2483007 I Z A 2,835 1,440 15 3,240 918
248300| a0 I=3:) 12,400 12,400f 15.5 2,916 2,376
248800 Z 7= A Eoe= 2,210

2488002 7= A/ K& 1,100 1,020 10 3,132 2,268




